SENTENCE TRANSFORMATION
     1.   The fox was unsuccessful in reaching the grapes. (VAIN)
       →The fox tried …………………………………………………..
2.     The crops were badly affected by the storm. (EFFECT)
	  →The storm had …………………………………………………
3.	  Although Nam was the stronger of the two, his attacker soon overpowered him.
	→Despite …………………………………………………………
4. 	  He can speak French well enough to go to the conference. (ENOUGH)
	→ ………………………………………………………………….
5.	  If you want my advice, I would forget about buying a new house.
	→If I ………………………………………………………………
6.	  It was overeating that caused his heart attack.
	→If ……………………………………………………………………….
7. 	  Despite his age, he’s still working. 
	→Though………………………………………………………….
8. 	  It is expected that the company can get more profit this year.
	→The company …………………………………………………..
9. 	  Someone told me my flight was cancelled when I arrived the airport.
	→Arriving ……………………………………………………….
10.	Provided your handwriting is legible, the examiners will accept your paper.
	→So long ………………………………………………………
11.	As people use a lot of wood-pulp, many trees are cut down.
	→The more ………………………………………………………
12.	Because of the absence of the atmosphere on the moon, the sky there is black, just as in space.
	→Because ……………………………………………………….
13.	These young men became doctors after six years training.
	→After these young men ……………………………………….
14.	People believe that the Chinese invented paper in 105 A.D.  
	→Paper ………………………………………………………..
15.	He was sorry he hadn’t said goodbye to her at the airport.
	→He regretted …………………………………………………
16.	That was a silly thing to say!
	→What …………………………………………………………
17.	They failed to find out a solution to the problem.
	→They didn’t succeed ………………………………………….

	
